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3HQHOLWLDQ� LQL� GLODNXNDQ� XQWXN�PHQHOLWL� $QDOLVLV� 3URPRVL� 3URGXN� 7DEXQJDQ�
3XURNX�3DGD�37��%35�/XEXN�5D\D�0DQGLUL�3DGDQJ��3HQHOLWLDQ� LQL�GLODNXNDQ�GL�
%35� /XEXN� 5D\D� 0DQGLUL� 3DGDQJ�� %35� PHUXSDNDQ� OHPEDJD� NHXDQJDQ� %DQN�
\DQJ�PHQHULPD�VLPSDQDQ�KDQ\D�GDODP�EHQWXN�GHSRVLWR�EHUMDQJND��WDEXQJDQ�GDQ�
EHQWXN�ODLQQ\D�\DQJ�GLSHUVDPDNDQ�GDQ�PHQ\DOXUNDQ GDQD�VHEDJDL�XVDKD�

3HQHOLWLDQ� LQL� PHQJJXQDNDQ� SHQGHNDWDQ� VXUYH\� ODSDQJDQ�� 3HQXOLV�
PHQJXPSXONDQ�GDWD� ODQJVXQJ�GDUL�%35�/XEXN�5D\D�0DQGLUL��%HUGDVDUNDQ�GDWD�
\DQJ� GLSHUROHK� WHUVHEXW�� SHQHOLWL� PHODNXNDQ� SHQJRODKDQ� VHKLQJJD� DNKLUQ\D�
GLSHUROHK� KDVLO�� %HUGDVDUNDQ� KDVLO� \DQJ� GLSHUROHK� WHUVHEXW� SHQHOLWL� GDSDW�
PHPEHULNDQ�NHVLPSXODQ�WHQWDQJ�$QDOLVLV�3URPRVL�3URGXN�7DEXQJDQ�3XURNX�3DGD�
37��%35�/XEXN�5D\D�0DQGLUL�3DGDQJ�

%HUGDVDUNDQ�SHQJRODKDQ�GDWD�GLSHUROHK�WLJD�SURPRVL�\DQJ�GLWHUDSNDQ�GL�%35�
/XEXN�5D\D�0DQGLUL�3DGDQJ��3URPRVL�\DQJ�GLJXQDNDQ�DQWDUD�ODLQ�DGDODK�SURPRVL�
VHFDUD�SHUVHRUDQJDQ�DWDX�VHULQJ�GLVHEXW�GHQJDQ�SHUVRQDO�VHOOLQJ�GDQ�VHFDUD�ZRUG�
RI� PRXWK� \DLWX� GDUL� PXOXW� NH� PXOXW�� 6HGDQJNDQ� SURPRVL� \DQJ� WLGDN� ODQJVXQJ�
GLODNXNDQ�GHQJDQ�PHQJJXQDNDQ�SURPRVL�SHQMXDODQ�VHSHUWL�NDOHQGHU�
.DWD�.XQFL��3HUVRQDO�6HOOLQJ��:RUG�RI�PRXWK��SURPRVL�VHFDUD�WLGDN�ODQJVXQJ


